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Botany: Principles of inheritance & variations, Molecular basis of Inheritance

Zoology: Human Reproduction, Reproductive Health, Human Health & Disease
Chemistry: Biomolecules, Practical chemistry
Physics: Dual Nature of Radiation & matter, Atoms, Nuclei, Semiconductor Electronics

01.

In grasshopper, the male sex in progeny is
decided by
1) Ova with (A + X) genotype
2) Sperm with (A + X) genotype
3) Sperm with (A + O) genotype
4) Sperm with (A + Z) genotype

02. Which of the following traits is expressed only in

03.

04.

05.

homozygous condition in pea plant?
1) Tall height

2) Violet flower

3) Green pod

4) Terminal flower position

Some feature of Drosophila are given below

(a) Males are smaller than females

(b) It has a short life cycle

(c) It has smaller number of morphologically
distinct chromosomes

(d) It is found over ripe fruits.

Which features are considered suitable for

experimental genetics?

1) (a). (c) and (d)

2) (b) and (c)

3) (), (c) and (d)

4) (a) and (c)

Relationship between Mendelian factors and
chromosomes was found by

1) Sutton and Boveri

2) Morgan and Sturtevant

3) Bateson and Punnett

4) Johannsen

Which of the following characters of pea was not
studied by Mendel?

1) Length of stem

2) Colour of leaf

3) Shape of pod

4) Colour of pod
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Ceul (paalemuled, FhHeHHuled et LTel6TD
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1) (A + X) wyugmi 61enE&UL 63T Gnlgul SGWTL LD
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1) GBLemL

2) 2aIT 6V
3) uFmE BHUl
4) (1penadT D6V [Hlenev
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(2) Quemtaemen el SewTEH6 FpflwieuyHert
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1) (a), (c) and (d)

2) (b) and (c)

3) (b), (c) and (d)

4) (a) and (c)
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According to ABO blood grouping system
number of blood groups possible for an
individual is

1) 4/6

2) 2/4

3) 1/6

4) 1/4

Find the correct statements about Mendel’s

identification on pea plant.

A) In a dissimilar pair of factors one member
dominates the other.

B) Law of segregation states that alleles do not
show blending

C) In a hybrid, segregation of one pair of
characters is independent of other pair

D) Behaviour of chromosome is parallel to the
behavior of genes

1) Except A all are correct

2) B and C are correct

3) Except D all are correct

4) All are correct

___ispresentin DNA onlyand ___ is presentin
RNA only

1) Cytosine, Thymine

2) Thymine, Uracil

3) Uracil, Thymine

4) Thymine, Cytosine

Thymine can also be designated as
1) 3 - Methyl uracil
2) 2 - Methyl uracil
3) 4 - Methyl uracil
4) 5 - Methyl Uracil

Which of the following property of genetic
material shared equally by both DNA and RNA?
1) Stability

2) Scope for mutation

3) Replication

4) Expression of characters

Which of the following process is giving enough
evidence to understand about RNA was the first
genetic material?

1) Splicing

2) Translation

3) Metabolism

4) All the above
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1) 4/6
2) 2/4
3) 1/6
4) 1/4
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HGP was closely associated with the
development of a new area in biology called

1) Biostatistics

2) Biosystematics

3) Bioenergetics

4) Bioinformatics

The cell free system of protein synthesis that
helped the code to be deciphered was a
contribution of

1) Marshall Nirenberg

2) Severo Ochoa

3) Har gobind Khorana

4) George Gamow

Match the following

A) Start codon 1) UAA

B) Stop codon 1) AAA
C) Lysine I1) AUG
D) Non degenerate codon|{1V) UGG

1) A-1, B-IlI, C-11, D-1V
2) A-1V, B-1, C-111, D-lI
3) A-111, B-1, C-II, D-1V
4) A-1l1, B-1, C-1V, D-1I

Inducer of lac operon is
1) Lactose

2) Allolactose

3) Galactose

4) Both (1) or (2)

In oocyte secondary maturation occurs in
1) ovary

2) abdominal cavity

3) uterus

4) Fallopian tube

Urethral meatus refers to the

1) urinogenital duct

2) opening of vas deferens into urethra

3) external opening of the urinogenital duct
4) muscles surrounding the urinogenial duct

Prostate glands are located below
1) gubernaculum

2) seminal vesicles

3) epididymis

4) bulbourethral glands
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1) wriraged Moy
2) QFeuBym &FGar
3) ey Cxralhd Qe
4) egmiyen snGLomel

LledT6eU(HeuadTeUBemMBL GLIT(HHHAILD

A) O5mt_ds GBI mer 1) UAA
B) Wmis5 Cabm_mesr I1) AAA
C) ewevdlair 1) AUG
D) fenseuenL wins Gamme|l1V) UGG
1) A-1, B-lll, C-11, D-IV
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4) A-111, B-1, C-1V, D-1I
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How many sperms are formed from a secondary
spermatocyte?

14

2)8

3)2

4)1

How many sperms are formed from 4 primary
spermatocytes?

1)4

2)1

3) 16

4) 32

Which of the following is not an STD?
1) Hepatitis — B

2) Genital herpes

3) Cirrhosis

4) Genital warts

Which of the following is a technique of direct
introduction of gametes into the oviduct?

1) ZIFT

2) ICSI

3) GIFT

4) Al

Which involves refraining from coitus from day
10 to 17 of the menstrual cycle?

1) Coitus interruptus

2) Withdrawal

3) Periodic abstinence

4) both 1 and 2

Given below are four methods (A - D) and their
modes of action (i-iv) in  achieving
contraception. Select their correct matching from
the four options that follow.

Method Mode of action
A. Oral pill 1) Prevents the sperms from
reaching the cervix
B. Condom i) Prevents implantation
C. Vasectomy |iii) Decreases sperm motility
D. Copper - T [iv) Semen contains no sperms

1) A-ii, B-i, C-iv, D-iii
2) A-i, B-ii, C-iv, D-iii
3) A-ii, B-i, C-iii, D-iv
4) A-ii, B-iv, C-i, D-iii
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1)4

2)8

3)2

4)1
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1) 4

2)1

3) 16

4) 32

Lesreuheuemeumned e1gl STD 160607
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3) Gy dlerd
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Weiteu(meuameuBmled CaLbl semen S(H(LPL ML & G)6iT
GrIwITed SIBIPSLILBSHSBID HILLID 6157

1) ZIFT

2) ICSI

3) GIFT

4) Al

worgallmul gippduler 10 wpged 17 b Hrei
UENT 2L aVIBemeUs HaITLILIGI 61517

1) allevsed (LpedB  H([HSHSHML

2) LI 6iT6uTmhIE 60

3) Flwibspens

4) 1 oBmib 2 ByewiBo

BHSHSML MU SlenL_aUFH60 HTeE (enmbeir (A -
D) wimib sieuipilest QFuwied (wenmese (i - 1V) &G
QBTBHBLILIL (H6TT6T6. Levteu(mLIeUBSleVl(hHb S
SleUmSleot Fiflwimest QUTHSHHHMBS
Baib5BHBMLD.
(Lpemm BL6UIQHNS (LPEDM
A. auruieu 1) ail[b&HamIchd6i &(HLIEML
LOTSH SHlemT GUTENW! SIHL UM BHE
SIGEZATS
B. syemiens 1) SHLILS SBHM605
SIGEEAITES
C. albgis@so i) albsam Buidbasid
BDL G®BADGI
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1) A-ii, B-i, C-iv, D-iii
2) A-i, B-ii, C-iv, D-iii
3) A-ii, B-i, C-iii, D-iv
4) A-ii, B-iv, C-i, D-iii
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Assertion (A): Intra cytoplasmic sperm injection

(ICSI) technique is used to develop embryo in

vitro.

Reason (R): In ICSI technique, the sperm,
directly injected into the ovum.

1) Both A and R are true and R is the correct
explanation of A

2) Both A and R are true and R is the not correct
explanation of A

3) Ais true but R is false

4) Ais false but R is true

Wuchereria bancrofti, the filarial worm that
causes elephantiasis belongs to phylum

1) Platyhelminthes

2) Aschelminthes

3) Coelenterata

4) Arthropoda

Which of the following statement is correct with

respect to immunity?

1) Thymus keeps increasing in size with age

2) Spleen serve to trap the micro-organisms (or)
other antigens in tissue fluid

3) Both bone-marrow and thymus provide micro-
environments for the development and
maturation of T-lymphocytes

4) The secondary lymphoid organs provide the
sites for interaction of lymphocytes with the
antigen, to become effector cell is

Who among the following are having high risk

of getting HIV infection?

1) Individuals who have multiple sexual partners

2) Drug addicts who take drugs intravenously

3) Individuals who require repeated blood
transfusion and children born to a HIV
infected mother

4) All of these

Heroin is

1) commonly called coke or crack

2) A cannobinoid

3) used to treat mental illnesses like depression
and insomnia

4) diacetylmorphine

Most cancers are treated by
1) radiotherapy

2) chemotherapy

3) surgery

4) all of these
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Anion that gives smell of rotten egg with warm
dil H2SOq4 is

1) S03~

2) NO;

3) CI”

4) S*

Which among the following can behave as a self
indicator?

1) Starch

2) S203”

3) Mn0O;

4) Cr03~

The sugar molecule formed by the linkage of C—
1 of B—D galactose unit and C—4 of p—D glucose
unit is

1) Sucrose

2) Maltose

3) Starch

4) Lactose

Sugar moiety present in DNA is
1) B—D-ribose

2) p—D—2—deoxyribose

3) B—D-3—-deoxyribose

4) p—D—4—deoxyribose

The incorrect statement for glucose is

1) a—D—(+)Glucopyranose has five chiral centres

2) Glucose shows mutarotation

3) Glucose on prolonged heating with HI forms
hexanol

4) Glucose is an aldohexose monosaccharide

Peptide linkage is present in
1) Carbohydrates

2) Proteins

3) Vitamins

4) Fats

Which compound does not show mutarotation in
aqueous medium?

1) (+)-Sucrose

2) (+)-Maltose

3) (+)-Glucose

4) (+)-Lactose

Product of the reaction of glucose with
hydroxylamine and nitric acid respectively are
1) Glyceraldehyde and an oxime
2) Saccharic acid and gluconic acid
3) Gluconic acid and n—hexane
4) An oxime and saccharic acid
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Choose the incorrect statement from the

following.

1) Any change in the primary structure of protein
creates a different protein

2) One of the stabilizing force in 2° and 3°
structures of protein are hydrogen bonds

3) During denaturation of protein, primary and
secondary structures of protein gets
destroyed

4) Denatured protein loses its biological activity

Which among the following bases is not present
in RNA?

1) Adenine

2) Guanine

3) Cytosine

4) Thymine

In Kjeldahl's method, nitrogen is liberated as
1) N2(9)

2) NO(g)

3) N20(9)

4) NHs(g)

Statement-1: Chromium Pentoxide has butterfly

structure.

Statement-11: Chromium Pentoxide has only one

peroxide linkage.

1) Statement | is correct but statement Il is
incorrect

2) Statement | is incorrect and statement 1l is
correct

3) Both the statements | and Il are correct

4) Both the statements | and Il are incorrect

Negatively charged sol among the following is
1) Haemoglobin

2) AS:S3

3) TiO2 sol

4) Methylene blue sol

In the flame test, which of the given ions appear
crimson red to the naked eye?

1) Cu?*

2) Sr#t

3) Ba?*

4) Ca?*

Group reagent for Ba®* cation is
1) H.S + NH4+OH

2) (NH4)2CO3 + NH4OH

3) NH4OH + NH,CI

4) HCl(aq)

7
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LeiteumeueteuBmled(hbdl  HUBTET  FnBenBs
CaibHosBE&SMLD.

1) Yrssder (paHetemn LI gBUGBLD 61hd
o®  wmppd  GagulL  LHE®S
2 _(HOUTSHGHI B

UrssHHer 2° wwpmid 3° sl Lalisefled
BlemeulILIBSHSHID allengHerile0 Q&M
mOBL 65T LT 6n 6Tl IL| 6N
Wasda  Homgals GBI,
WH@EID  DBGID QeI mD
B L el IL|&H61T SN SHaHLILBE 6360t
fsaumLbsd UIsSD DHeT 2 ulifluied
CFweoLIT L BpSHFH B

2)

3) LI HSSlett

[Hlemev

4)

LeTeu(hld  SIQLILIDL H6MM60 615 hJeTeinealen
B606M60?
1) sigenetest
2) &GUTEEITGHT
3) a1l BLrdlesr
4) gLolest

GaeoLmed  (pemdBuiled, eMBHLTEQ6H
al(halssLILBSBH

1) N2(9)

2) NO(9)

3) N20(g)

4) NHs(g)

— &

app-lT @Crmoiwid QueTTéHama® LU LmbLFd
SlenLoLIenLId O\HTewT (66T

apoi-11: @&Cymiwid Quea_Témahadd 6T @b
QupmsdensdH QenemTliL] @ _6iTeg.

1) spo | sflwineng eyemmed ammm | Heupreng)
2) gapml | seupreng wBpid amu | sflwrerg
3) | wpmid | Byesi(h gnBmIGEHD Fflwimereme

4) | wpmid |l Byewi® amBuIsEbDd SalpTeamel

Leiteu(meuemeuBmled  61&)ToemBWITES LGS TeNTL L LD
QaFwIIUL L &emy&ed
1) anSGiom@Bermifest
2) AS,S3
3) TiO2 semyaed
4) Qg HeSeiT [B60 BT F60

gL Cangpameruied, OBTHSHHILLL HiuleNH6re0
6P D6 FHMT6wID HewIamIch@ SIflbFeir dleuliL
BBHS60 CHTEIDID?

1) Cu?*

2) Sr¥*

3) Ba?*

4) Ca?*

Ba®* GrT SwelbaTar OHTHSH allenaroLIT(Hel
1) H>S + NH4OH

2) (NH4)2CO3 + NH4OH

3) NH4OH + NH4Cl

4) HCl(aq)
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A radiation of wavelength 2500 A° is incident on
a metal plate whose work function is 3.5 eV.
Then the potential required to stop the fastest
photo electrons emitted by the surface is (h =
6.63x 103 Jsand C =3 x 108 ms™?)

1)1.86 V

2)3.00V

3)1.46 V

4)2.15V

The correct curve between the stopping potential
(Vo) and intensity of incident light (1) is

1) ¢
Vo
T—»
2) ¢
Vo
_ —
3 ¢
A /\
—
4 4
Vo \
T 15

The maximum velocity of an electron emitted by
light of wavelength A incident on the surface of
metal of work function ¢ is (where h — planck’s
constant, m — mass of electron and ¢ — speed of
light).

1) r2(he+Ad)]Y/2

2(h m{‘q)) '

2(hc—

2) —

12(he—Ad)]1/2
mA

_ _\11/2
4) 2(hcA-o¢)

3)

m

A particle of mass M at rest decays into two
particles of masses my and m2 having non—zero
velocities. The ratio of the de-Broglie

wavelengths of the particle A1 / A2 is
1) =

ms

msp
2) —

3)1
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2500 A° siemevpens e sdljaiFa eiailigl 3.5 eV
CeoueMCuBm SBBed 2 CeuTad HBL g6 LG
JgBUBS B! GuopugiiNeommed GeueflliLpLd
9IFHCous 6l 6T6e0HL TTETHM6N [HBISHHIMHBESHDH
Gapensuitear SyBmed (1= 6.63 x 1024 Jsand C =
3x 108 ms?)

1)1.86 V

2) 3.00V

3)1.46V

4)2.15V

BBISs Weerpssn (Vo) wBpib LB eerfluler
ey (1) oPwaBpisE oL Gui o e
FWITET Ql6N6IT6)]

1)VT0

I—s

[—»

QeuelBuBBLI SiBMed ¢ CaTewiL. o Beomdga) 6t
GBUIILIed SIEMEVHETD A OBTEWIL. 61608 JT6i
alapBurgl GeueflILBLD sTevdL Jreflel SIFHBULF
Gousld (®mE h — demmaider wmfed, m —
616051 menflest Bemm BHID C — @eMuile Gousid).
'2(he+Ad)] /2

l) [ mA |
2) 2(hc-A¢)
m

'2(he-Ad)11/2
3) | mA | /
- _\11/2
4) 2(hcA—o)

m

peoop M @& @ Ss6eT @uie] Heneoulsev,
yaedwioBp Ceusmisamend OQ&TewiL. M1 LoBH3ID
mz [Hlemm 61T 6ot ®yewih HIB6ITHENTS
S HeuenL HBG!. FHB61TH 61T 60T 19-L18y 60
SienevbenmiGelesr alldsid A1 / A2 Lerd
1) =2

msz

2) 22

myq

3)1

4)2—?
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The radius of second stationary orbit in Bohr’s
atom is R. The radius of the third orbit in the
same atom will be

1)3R

2)9R

3)5/4 R

4) 9/4 R

A hydrogen atom emits a photon corresponding
to an electron transition fromn=5ton=1. The
recoil speed of hydrogen atom is equal to

1) 10* m/s

2)2x 102 m/s

3) 4 m/s

4)8x 102 mfs

Transitions between three energy levels in a
particular atom give rise to three spectral lines of
wavelengths, in increasing magnitudes A1, A2 and

A3. Which one of the following equations
correctly relates A1, A2 and A3?
D=3
2)M=h3— A2
1 1 1
D =ntn

Density D of nuclear matter varies with nuclear
number A as

1)DaAd

2) D o A?

3)Da A

4HDaA°

If Fpp, Fp-n, Fnn are nuclear forces given two
protons, a proton and a neutron, two neutrons
respectively inside a nucleus then
1)Fo-p<Fp-n<Fn-n

2)Fp-p=Fp-n=Fn_n

3)Fp-p<Fp-n=Fn-n

4) Fp-p>Fp-n=Fa-n

To generate a power of 3.2 MW, the number of
fissions of U?® per minute is (Energy released
per fission = 200 MeV)

1) 6 x 108

2) 6 x 10%

3) 10V

4) 6 x 10'°

9
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Gunlesr iemIaled  _6iT6n @6 TeUI [HEn6eOUITET
appiuTensuiesr b R gu@b. 9185 Siamiaied
CLPSIIBTeUG FBMILILTENSHUT6T SLTLD

1)3R

2)9R

3)5/4 R

4) 9/4 R

(b ABLIEIET Sigwi N = 5 Bedbhal N = 1 6@
6T6LEL_[JTT60T LOT IS EVIL 63T OHTL T emL W
JOumiLmewenr GeueflulliGamal. eweusL Feget
Slamialein LleerenL e Cousld 61HBEHSF FLOOTEIH]
1) 10* m/s

2)2x 102 m/s

3)4mls

4) 8 x 102 m/s

Qb GPEUUILL Semaled © 66 (LaiBl SLiBB6e0
HlenevB eSS Benl Gl gBUBLD TBBEISET A1, A2
LOBBID A3 DIETA|BH6IT6D, SHIEN6VHENHIGHEITET (LPGITN]
BiBoTemed  CHTHHMET 2 (HeUTE) S eime.
Uesteupd FoamunBaselled e1gl A1, A2 OBEBID A3
® | a1 FfluIms QSHTLTLemLWig?

1A =22—2A3
2) M =A3— X2
1 1 1

Vi =ntn
SlemIHE[HL1 QUThHelesr SILTHa D g erewr A
® L&___ o5 IBUGSHBSH
1)D o A3
2)D o A2
3)DaA
4)D o A°

Fpp, Fp-n, Fnn &udlwemeu  oigmidsmallanler

B mEGD Byeni® LGTTL L Teisel, e(h LGTmL L mesr
IOBGID @ BULLIT6T, BIewi® Bl JTeTsHEhsE
CaThHSHSLILL L OIEmIdHH(H alend

2)Fp-p=Fp-n=Fn-n
3)Fp-p<Fp-n=Fn-n
4)Fo-p>Fp-n=Fn-n

3.2 Qwateur WSIFSHmUl 2 (HhauTdd, @b
B SHBEG UP-a1 eneyseles erawionibamnas
(@ MeneysE Gaueiwngb sybped = 200 MeV)
1) 6 x 108
2) 6 x 10%

3) 10/
4) 6 x 10%°
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Binding energies of H?, He}, Fe3% and U33°

nuclei are 2.22 MeV, 28.4 MeV, 492 MeV and
1786 MeV respectively. Which one of the
following is more stable?

1) H?

2) Hej

3) Fe3¢

4) Ug3°

In the following, reverse biased diode is
+10V

-5V
3) D|
-%- R
-10V
4) +5V
R

The circuit shown in figure contains two diodes
each with a forward resistance of 50 Q and with
infinite reverse resistance. If the battery voltage
is 6V, the current through the 100 Q resistance is

Dy  yso0
D
s 500

+ -
4' — WA
6V 1000
1) 0.01 A
2)0.02 A
3)0.03A
4) 0.04 A

1

0
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HZ, Hel, Fe3¢ wmmib U33® ojemisamoaefer
Hememti] ouBmevse (pempGu 2.22 MeV, 28.4
MeV, 492 MeV uwppib 1786 MeV sgy@lb.
Leteuheussioumplied  61g  WOSAID  HlewevliLsh
HTMLD  CBTeuTL &1?

1) H2
2) He;
3) Fe3S
4) Ug®
LedTeu(meuateuBlen, &Hemevdid amiyL] enL Guim(y
1) +10V
+5 vl :' R l |
2)
-12V
R
5V
3)
R
-10V
4) +5V

2

UL &Fle0 smlL L Beiterm amml S0 Q (e s,
L &THEML BBID  ETEVMEVWIBB  HEWEVABLD
TG emuldh QB meniL @Teni(h enL CuITBaemernd
OamemiBeengl. Wedev  eteIpdHHD 6V
aiaipren, 100 Q 1beigdemulesr  eufGw  umud
LOleBTGeuTTL_L_LD

Dy s
—P—n—
D 500
i
+ I E

6V 1000
1)0.01 A
2)0.02 A
3)0.03 A
4) 0.04 A
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59. The intrinsic charge carrier density in germanium

60.

crystal at 300 K is 2.5 x 10 /cm?®. If the electron
density in an n—type germanium crystal at 300 K
be 5 x 10% /cm?, the hole density in this n—type
crystal at 300 K would be

1) 2.5 x 108/cm?®

2) 5 x 10%/cm?®

3) 1.25 x 10'%cm?®

4) 0.2 x 10%cm?®

The Boolean expression for the given gate is

A )—Y
o1

1)A0=0

2)A.A=0

3) Al=A

4HAA=A

11

59.

60.

www.Trb Tnpsc.Com

300 K &0 o 6iten OQefiomeiuid LigHg 60
® 6iTenjhg eTenmt L arTguilet ST HE 2.5 X
108 /em® eys. 300 K @60 o siten N-euena
CgTTeiWIll LIQHSHH 6T 6Te0HLTT6T DILJHH 5 X
10% /cm® o8 @mhsTen, 300 K @6b 2_siten @b
N-6UeN&E LIQHHIH 6 HIeN6T SILTH
1) 2.5 x 10%/cm?®
2) 5 x 10%cm?®
3) 1.25 x 10%%cm?

4) 0.2 x 10%/cm?®

OamBaHsILL L auruiedbaTer Leduler Geuefrium®

A —Y
>—

1)A.0=0

2)A.A=0

3) Al=A

4HAA=A
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32.

Solution

. Answer: (3)
. Answer: (4)
. Answer: (2)
. Answer: (1)
. Answer: (2)
. Answer: (4)
. Answer: (3)
. Answer: (2)
. Answer: (4)
. Answer: (3)
. Answer: (4)
. Answer: (4)
. Answer: (1)
. Answer: (3)

. Answer: (4)
. Answer: (4)
. Answer: (3)
. Answer: (2)
. Answer: (3)
. Answer: (3)

. Answer: (3)
. Answer: (3)
. Answer: (3)
. Answer: (1)
. Answer: (1)
. Answer: (2)
. Answer: (4)
. Answer: (4)
. Answer: (4)
. Answer: (4)

. Answer: (4)

S? +H,S0, —» H,S T +807"
Rotten egg
like smell

Answer: (3)
MnO; (permanganate ion) can behave as self
indicator.

1

33. Answer: (4)

Lactose
CH,OH CH,OH
(@) (0]
HO ¢ H Y OH
O,

H OH H H OH H H
H OH H OH
p-D p-D
Galactose Glucose

34. Answer: (2)
HOH,C O OH

H\H H

OH H
[3-D-2-deoxyribose

35. Answer: (3)
Glucose on prolonged heating with HI, it forms
n-hexane.

36. Answer: (2)
Peptide linkages are present in proteins.

37. Answer: (1)
(+)-sucrose does not show mutarotation. It is a
disaccharide of glucose and fructose. The
anomeric -OH of glucose and fructose are
involved in glycosidic linkage hence the
molecule does not show mutarotation.

38. Answer: (4)

?HO (|3H =N—OH
(CHOH), NOH o (CHOR),
CH,OH CH,OH
Oxime

CHO HNO, _ COOH

| Oxidation |
(CHOH), (CHOH),

| |

CH,OH COOH

Saccharic acid
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39. Answer: (3)
Due to change in temperature or change in pH
etc. Hydrogen bonds in protein gets disturbed
and protein loses its biological activity. This
process is called denaturation.
During denaturation primary structure of protein
remains intact.

40. Answer: (4)
Adenine, Guanine, Cytosine and Uracil are
present in RNA.

41. Answer: (4)
In Kjeldahl's method nitrogen evolves as NHz.

42. Answer: (1)
@]

>
Cr

o~ o

Structure of chromium pentoxide (Butterfly

structure)

CrOs has two peroxide linkages.

43. Answer: (2)
As>Sz is a negatively charged sol whereas,
Haemoglobin, TiO2 sol and methylene blue sol
are positively charged sol.

44. Answer: (2)
Sr?* gives crimson red colour to the flame when
observed from naked eyes.

45. Answer: (2)
Ba%* is Group V cation and group reagent for
Group V is (NH4)2COs3 + NH4OH.

46. Answer: (3)
eV, = [E - WJ eV
A

_ 12T400—W oV
Aln A
W=35eV, AL=2500 A
Vo=146V

47. Answer: (2)
Vo is independent of I.

48. Answer: (3)

1 ) he
_m “‘ HE e
2 max K (I)
1/2
- {M}
mi

2
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49. Answer: (3)
m(0) =mv; + myvy

m;vy; = -mpvs

P1 = -p2

A= E = A0 l
P p

WP

L, p

50. Answer: (4)

=053 A
Z
r, (n, ’ I, {3}2
2 _ 2 = 2| =
I n, R 2
I‘QZER
4

51. Answer: (3)

h h
p=— > my=—
A A
h
v=—-— (1
s (1)
c=vi = A=S
v
| Y,
-t —(2
o (2)
v:_v_i - (3)
mc me
1 1
E136[7— jJeV -—(4)
- 5

-19
v=13.6(i2—i,J Lo 4
P 5°)1.6x107 x3x10

52. Answer: (3)

E;
v E,
A3
A A 4 E1
Y
AE] - AEz = AEz
AE] = AEQ + AE3
hc¢ hc he
—_———
Mok,
| | |
_ = —
A A
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Answer: (4)
Density of nucleus is independent of mass
number A.

Answer: (2)
Conceptual

Answer: (1)
Pt=nE

6 -
LRt 32x10°x60 o

E 200x10°x1.6x107"

Answer: (3)
B.E

Nucleon
stable.

of Fe); is maximum hence more

Answer: (4)
0-(5)=-5V=RB

Answer: (2)
- 6 6

[= = =0.02A
50+150+t100 300

Answer: (3)

n; = neny

- n’ 2.5x10”x2.5x10"
" on, 5x10'°

=1.25x10"/cm’

Answer: (2)

AA=0

3
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